00000 -000 (01100

51.

52.

53.

54.

95.

00000000000000,00000000000000000000000000000000
0000. 0000000000000 (0000)0,00,i=1,...,60000 P{i})=1/600
0.000000000000000000,00000000000000(0000)0000.

oooooooooboo g, H, OODOOOO0.0 /L, 000000,0000000000,0 HO
gobooo,boobgoboobo.booobooboooobob. boboooobobobooboon,
000 H,O0OOOOO 50% 000,00,00000 50%0 H,OOODOOO. O0OO,000000
gooo,booboobooboooboooboo. cobobobooooooboobo,0bobooooon
ooo0o0oo0oooO0oOoUo00D. (D0oO00DO00oLDO0oO0DoO0000OUDO,0000 HLOOOOOD
0000000000000000000.) 000,000000000000000O0000O0O0O
ooboobooooooboobo 200000000000, 000000000000O0.

gobogooboobooboooboo. bobboobooobo,0booboboooboo. bg,0bd
goboooobobo,0ooboobooboobooocooooooboobob. oo, 000000000
goboobooooooobo,boobooboooooob,boobobooooooooooooboooobn,
0o00,000000000000000O00(DO0O000D00D00DO0D)D00O0D0OD0OD. 00D
gboobooobooob.goooboobobog,

A={00000000000O0OO0 }, B={0OOUOOOOOOOOUOOO,00O00000 }

O00U0o0O0o0oooo.0oo0,0000000 p=PA),¢q=P(B|A)O00O0O0OOO.OOOO,
00000oo0ooO0o0o0o0Uo. (booo00o P(A| BYODOOODUOOO. DOO,BCOUOOOO
0000000o0o0ooD,000000000000Ooo0ooO.)

goboooboooboooboobo,b0coboobooboob0obooobooobooooobooOobOon. oo
gboobobbooboob,0oobooboooboboboboboobobo,obobob,booo
gobooobooobooobooobooobobo. ob,

A={0000000000OO0OOO0UOOOOO }

B={000000000O0O00OOOOUOOOOOOOOOO )
gboobgooogoob.ooboobo,obobooboboobooboobooboobooobg.

1 P49
==, PB|A)=—

3 PEIA) =155 P(A)
000,c0000000.0000,0000000000 P(A|B)00D00O0.000,00000
000,000000000000000000000000000000 P(A|B9)00O0O0.

P(B | A) =2

000000000000000.0000,00000000000 X,0 X, =Xp14+Wa, Xo=0
000000000000000. 000, W, We, ...0000000,0000000000000.
P({W,=+1})=p, P({Wn=-1})=g=1-p

00 n=30000 X3=k00000 m3(k) O, 73(3) = p?, m3(1) = 3p2q, m3(—1) = 3pq?, m3(—3) =
¢>000.00,0000000000000000000,X;>000000000. 000000
000 X;000000,0000000000000000.



